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Special Slopes

The slope of horizontal lines is zero. The slope of 

vertical lines is undefined. 



Match the graphs with the correct slope

A.   zero  

B.    

undefined

C. negative

D. positive
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3. 4.
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Find the slope and y-intercept of the line below

Slope =



Find the slope and y-intercept of the 

line below
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Select all the answers that are 

correct.

A. In  the equation y = mx + b, b represents the slope.

B. In  the equation y = mx + b, b represents the y-intercept.

C. In  the equation y = mx + b, m represents the slope.

D. In  the equation y = mx + b, m represents the y-intercept.

E. A line has infinite slope because it depends on the points you 
choose.

F. A line has only one slope irrespective of the points you choose on 
the line.
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Find the slope 

of the line and 

describe it in 

words.



Slope (m) = 
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m  =  
𝟖𝟎𝟎

𝟐
=  400

The slope means 

that one gallon of 

paint will cover an 
area of 400 square 

feet.








